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let x = 10 in
let f v = x + vy in
let x = 20 in
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0. Lisp, Scheme, ML (SML, OCaml, F#), Haskell
Ruby, JavaScript, Scala 00000000 OOCOO0O0OOOODOODOO
O000. 0000000, Generics, Map/Reduce
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A-calculus: Alonzo Church (1936) 0000000000

» 000000000000 0000000000
» J0000000000000000000

» Of(x)=x2+5x 00000 f0 00 M. x> +5x0000
f 10 = (Ax. x> 4+ 5x) 10 = 10 +5- 10
O00000000: 00000000000000000
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O00000: xy, x(yz), >x. x (0000)0AxAy. x(xy)

0000000000000: &x.x+1(100000)0
Ax Ay Az.if x then yelse z (xO trueJ0 yOOOOOOOOOOO z
ooooo)o
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00O 0O (higher-order function)
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M. (Ax. f(fx)) .. 00 fFOO000MxO00000 f(f(x) 000
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0f0 g000000000000000000000
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» 0000000000 (referential transparency)
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goood
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» DO00O0O0O: 000b0b0bObObobobObobObboboboobobooooog
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» UOO00O00O: 0b0obobOoboboooooooon
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» Lisp: 0000ODODODODOODODOODOOODOODOODO
» Scheme: Lisp 000000000000 O0OOOODO

» ML: OOO0O0O00O0DOCOOO000OSML, OCaml, FAOQOO
oo

» Haskel: OO OOD0OO0OOOOOOOOOOOOOODO
Ruby, Scala, JavaScript 0000000000 DOOOCOOOOOO
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ooooobooooooooooo 2

gopoogooo: oodg
(for, while,...)

int fib (int n) {
int i, tmp;
int x=1, y=1;
for (i=2; i<n; i++) {

uboobobg: 0o
ood

let rec fib n =

P = % if n<=2 then 1
* Y else fib(n-1) + £ib(n-2)
y += tmp;
}
return y;
}

0000 (oooOoO ooooo)
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gboogboobo:obog

ooboo ucoboobo: o0
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int foo (int x) {
int y; let foo x =

let y = x + goo(x+1) in
let y = y + hoo(y*xy) in
let y = goo(y+2) in

y = x + goo(x+1);
y += hoo(y*y);
y = goo(y+2);

return y; y

OopDoooooo

chobooboooooobooobooboobobooo

int x = 10;
if (some_condition) { x = x + 5;%}
printf ("%d\n",x) ;
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oooooao:
mapO 0000 map0 000000000
let foo a b 1lst = Spe
Lt:t.map_> ratb) lst List.map
un x x*a S (fun x -> x ~ ".ml")

in

foo 10 20 [1; 2; 3; 4]
==>

[30; 40; 50; 60]

["fOO"; llgooll; “hOO"]
==>

["foo.ml"; "goo.ml"; "hoo.ml"]

0000 (OO0 oDboOoO0) oooooooo

HEN

gb: gbobobobobobooobobobonog

let rec foo f n x =
if n = 0 then x
else f (foo f (n — 1) x)
O000: fooOOOODO fOOODOIlet addlx=x+ 100000000
00 addl O let times2 x =xx20000000000 times2 000
O0ooooooooood

O000000: 000 mnOO0O0OOfoo (foo addlm)n0O0 0000
obooboooooboon

0000 (DO0DO0 o0Oo00) OopDoooooo

ubooboooog uboboboobo

let fool f g x = let rec goon f x =

g (f x) if n=0 then x

let foo2 f g = else goo (n-1) £ (f x)
fun x > g (f x) in

let foo3 = goo 5 (fun x -> x + 10) 7

==>
57

fun £ -> fun g >
fun x > g (£ %)
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(computational effect)0 00000000 (side effect) 0 0 00O
» 0 1: 0000000 (oooo)
» 022 0000000000000 000O00O0O0OO0
» 03: 00000000000 (DOoOoOoo)

0000000000000

» 0000000000000000000000000

O: f(x)+f(x) = f(x) *2 000000000
0000000000000 (Haske) 0000000000000

00000000 (OCamlODOUCOOO)000O0ODOOODODOOODO
00000000000 (Doooo)o
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0000 (OO0 o0oDbOoO0O0) oooooooo

ooaoon

gogooooogd:

let foo x = if x > 100 then fun y -> y - x
else fun y -> 91
in (foo 3) 5

O.0Caml 00O (foo 3) 50 foo 3 500000000

0000 (oooOoO ooooo) 0ooooooon

gooooboon

» 00000000000 DODO0O00O0O0O0OO (L) ooooo
» JO0goOooooooooon
» 00000 (0D00OD)000OO0o0ODOOoO0bOOOoOoOd

od:

let x = 10 in
let f v = x + vy in
let x = 20 in

£ 30

OO0 fO0O0ODOOCOOO0OO0,00f00000DDOCOx=100000
0000000000000 C Closure(f,y,x+y,[(x,10)]) 0O000O)
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» JOO0D0OO0OO0O00O0:00000000000DOODOOOODOO0
oogd

» JOO0D0OO00OO0O0OO0b0O0ob00o0n
» JOO0D0OO0O0OO0OO0o0O0o0o0oo0ooon

0000 (0000 oOoooo) oooooooo



googao goooobboogd

goooooooooooooooouoooooao Tallcal: OOO0O0OO0OOO0OO0OODOOOOOOOOODOOOOO
let rec sum n = let rec sum n =
if n = 0 then O if n = 0 then O
elsen + sum (n - 1) elsen + sum (n - 1) ;; NG
let rec sum2 n m =
int sum (int n) { if n = 0 then m
int i, res = 0; else sum2 (n - 1) (n + m) ;; OK
for (i = 0; 1 <= n; i++) let rec power n x =
res += i; if n = 0 then 1
return res; else if (even n) then square(power (n/2) x)
} else x * (power (n-1) x) ;; NG
Oo00oo0n0n let rec power2 n x m =
» 0000000000D00MO0000000000000000 if n =0 thenm
0000000000000000 else if (even n) then
» J0O00O0D0001000000000000000000000000 power2 (n/2) (square x) m
0000000000 0000000000D else pover2 (n-1) x (nm) ;; OK

0000 (OO0 o0oDbOoO0O0) oooooooo / 0000 (oooOoO ooooo) 0ooooooon

ooooooboogn goooon

bobobobooboobooooooooboobon:

oooooooooooon: let rec fact n =
» 000000000MOO0000000000 if n =0 then 1
else n * fact (n-1) ;; NG
» .0000000000000000(00000000000)
O00000: chapd.mlchapb.m OO00O0 ex3 000 let rec fact_cps n k =
00000000000 DOO: ifn=0 then k 1
» Scheme: D0 O0D00O0OOOOOOOOO else fact_cps (n-1) (fun x > k (n * x)) ;; OK

» MLODOODODOODOOD: 00000000 00DO0ODbOO

fact 5 (f >
» CJavaScript 000 0000000000000 00O act_cps 5 (fun x -> x)

=> fact_cps 4 (fun x -> 5 * x)

- 0000000000000 00000 10000000000 => fact_cps 3 (fun x -> 5 * 4 * x)
000000000000 ((@oOO0000D0D0D0obOOooODOODOOOoO = ...
oDoo) => fact_cps 0 (fun x => 5 * 4 * 3 * 2 *x 1 * x)

=> 5 %4 x 3 x 2 x 1 x 1

gboobobobogobog
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- 000 11g000a

0000 (OO0 o0oDbOoO0O0) oooooooo

goodaao
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00 (continuation): D000 0DO0O0O0O0MMOOODOOODOOOOODO

let rec fact n =
if n = 0 then 1
else n * fact (n-1) ;; NG

fact 5 00000000
5 * (fact 4) 00000000 5%
5%¥4*(fact3) | DOOOODODOO5*(4%])

0000 (oooOoO ooooo) 0ooooooon

goooobobogn

0O0D00O00O0O: Continuation-Passing Style
» 0000000000000 0O0000000
» 0000000 MObO0ddddoooooooooooon

let rec fact_cps n k =
if n = 0 then k 1
else fact_cps (n-1) (fun x -> k (n * x)) ;; OK
fact_cps 5 (fun x -> x)
=> fact_cps 4 (fun x -> 5 * x)
=> fact_cps 3 (fun x -> 5 * 4 * x)

=>5 %4 % 3 %x 2 x 1 x1

cpPsSoOn:
» JO0O0OD0 ODO0O00000doddoooooo
» 0000000000 (Appel, “Compiling with Continuations”™)
» JO0000ooooooon

0000 (DO0DO0 o0Oo00)

OopDoooooo

let rec sqrt_multiply 1lst =
match 1st with
0 -—>1
| h :: t => (sqrt h) * (sqrt_multiply t)

let rec sqrt_multiply_cps 1lst k =
match 1lst with
| 0 ->k1
| h:: t >
if h >= 0 then
sqrt_multiply_cps t
(fun x -> k ((sqrt h) * x)
else -1
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